


POS QTY | PARTNUMBER BESKRIVELSE DESCRIPTION

1 1 406488 BOLJE STOP RING

2 1 406489 BESLAG BJJILE BRACKET

3 1 90122134 FLANGEBOLT 8.8 M6X35 FZ COLLAR BOLT M6X35 FZ

4 1 406490 @VRE STYRR@R GUIDE TUBE

5 1 406491 KOBLINGSKABEL CLUTCH CABLE

6 2 90122178 FLANGEM@TRIK M6 COLLAR NUT M6

7 1 406492 HOLDER FOR STARTSNOR HOLDER

8 2 90100091 BRZADDEBOLT 8.8 M8X50 FZ CARRIAGE BOLT M8X50 FZ

9 4 90100692 LASEM@TRIK 8.8 M8 FZ LOCKING NUT M8 FZ

10 4 406493 FINGERSKRUE M@TRIK SORT| WING NUT M8
M8

11 4 90102309 PLANSKIVE M6 FZ FACE PLATE M6 FZ

12 1 406494 NEDRE STYRR@R GUIDE TUBE

13 1 406508 KABELHOLDER CABLE HOLDER

14 6 90100692 LASEM@TRIK 8.8 M8 FZ LOCKING NUT M8 FZ

15 6 90122148 FLANGEBOLT 8.8 M8X16 COLLAR BOLT M8X16

16 1 406495 STYRHOLDER HGJRE GUIDE HOLDER

17 1 406507 STYRHOLDER VENSTRE GUIDE HOLDER

18 2 90100087 BRZADDEBOLT 8.8 M8X30 FZ CARRIAGE BOLT M8X30 FZ

19 1 406496 SKAERM GUARD

20 3 404857 MASKINSKRUE 4X16 MACHINE SCREW 4X16

21 3 90102308 PLANSKIVE M5 FACE PLATE M5

22 3 90100689 LASEM@TRIK 8.8 M4 FZ LOCKING NUT M4 FZ

23 2 414846 HBIDEJUSTERING HAJRE HEIGHT ADJUSTMENT

24 2 414847 HBIDEJUSTERING VENSTRE | HEIGHT ADJUSTMENT

25 4 425105 HJUL 7" GRA (MP20) WHEEL 7"

27 4 414102 SKIVE @13X20X1.5 WASHER @13X20X1.5

28 90122198 FLANGEM@JTRIK M10 COLLAR NUT M10

29 2 406499 HOLDER HOLDER

30 3 292373 FLANGEBOLT MED LILLE COLLAR BOLT M8X25 FZ
HOVED M8X25 FZ

31 2 90122134 FLANGEBOLT 8.8 M6X35 FZ COLLAR BOLT M6X35 FZ

32 1 414103 BESLAG FOR UDKASTER BRACKET

33 1 414525 KNIVHOLDER BLADE HUB

34 1 406501 KNIV 20" BLADE

35 1 406503 SKIVE FOR KNIV WASHER

36 1 406502 STALBOLT SORT 3/8" STEEL BOLT 3/8" UNFX1%"
UNFX1v2"

37 4 11GBT91 SPLIT 2.0X16 COTTER 2.0X16

38 1 409946 UDKASTERSKARM CHUTE

39 1 409945 BIOPLUG MULCING PLUG

40 1 409943 AKSEL SHAFT

41 1 409944 FIJEDER SPRING

42 1 414524 NOT KEY

43 1 414523 B@S BUSHING

44 1 414848 KLIPPEBORD CUTTING DECK

45 2 90180950 FLANGEM@TRIK M5 COLLAR NUT M5

46 1 TG475 POWERLINE TG475 POWERLINE TG475

47 4 406362 NAVKAPSEL SORT HUB CAP




	Tegning2011
	sparepart_list_2011

